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SR pEgEr, WA+ A, ©
(@ 0

(b) TRWT TS

(c) TR HUITHS

@ 3R p, g, r vTHE § N TATHS
FATT FTHS

2. afe (@~ b)b-c)c-a)=2 3K

8.8 &
@ ¥ A
a b 3

abc=6 % @

@l HF

TR ?
(@ 3
(b) 12
(c) 14
(d 15

3. Frafofeq % ¥ fm vt & sefim

a b c
b.ca
cab

R & BT R ?

l.a+b+c=0
2. @+ b+ = 3abe

3.a*+b+c*—ab—bc—ca=0
¥ T Y Fe @ W W T Sw
gfig
(@) ad 1 3R 2
(b) FHaw 2 3R 3
(c) Faa 1 3R 3

@ 1,2%R3

SDFR-S-HTM — A

4. 31 A=[m n], B=[-n —m] 3R
c:[_";] % dan % Praffer ®
ﬁm?ﬁﬁm:

1. CA=CB
2. AC=BC

3. C(A4+B)=CA+CB
IEH # ¥ BH-T1 /-8 FI wE
/%7
(a) Fa 1
(b) Fae 2
(c) 23R 3
(d 13R2

2sin@ cos@ 0

5. afe A=':—Zcos6' sin@ 0} g

-1 gty
A(adjA) fras sqer § ?
(a) Y =ge
(b) -1
(c) 1
@ 21

SRl 1 & TEHE IgE ¢ |

6. k% T 7w & forg smege

2cos26 2cos260 6
1-2sin’0 2cos?0=1 3

k 2% ]
FFTHANT ® ?
(a) ¥ 0
(b) = 1
(c) ¥ 2

(@) & oft arafes a9
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1pg 151
1L.IfA;=|1 ¢ rlandA,=|q r p
<r - p rpgq

where p#q#r, then A + A, is
(@ O

(b) always posiﬁvc

(c) always negative

(d) positive if p, g, r are positive else
negative

2. If (@ - b)b - c)(c—a)=2 and abc = 6,

then what is the value of

(@ 3
(b) 12
) 14
@ 15

3. Under which of the following condi-

tions does the determinant
ad e
b c a
cab

vanish ?

l.a+b+c=0
2. @&+ b+ =3abc
3.a2+b+c2—ab-bc—ca=0

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

3

4. Consider the following in respect of

the matrices :

A=[m n], B=[-n -—m]'andC=|:_':'”]

1. CA=CB
2. AC=BC
3. C(4+B)=CA+CB

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) 2and 3
(d 1and2

24ind - oos0 0

If A= -2cos@ sin@ 0|, then

-1 1 1
what is A(adjA4) equal to ?
(a) Null matrix
(b) -1
(c) 1
(d 271
where 7 is the identity matrix.

. For what value of k is the matrix

2c0s20  2c0s20 6

1-2sin’0 2cos’6-1 3

k v | FERELE |
singular ?
(a) 0 only
(b) 1 only
(c) 2 only

(d) Any real value

A - SDFR-S-HTM
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7.3113?&%11{,4@33@&@31@5%

#R B=adjid ¥ | Feaffea & 3
FH-AT/H-¥ F99 wE 2 /8 ?

1. AB = BA

2. AB & 3fqu amege R

3. AB TF YA AR A Wbl R
= for T Fe 1 oW W w® IWw
gfg
(a) Fae
(b) Fae 1 KR 2
(c) ¥aw 2
@ 1,23R3

LA Fife ¥ @ areget 4 IR B W
oy # fafafes 9@ w fimr
Hifsrg
1. 7% 4B U= Y7 g ®, @4 3R
BH A F9-¥-F0 dE @ YA
AR ®
2. af¢ AB ©F qwws g ®, @
BA=AB ?
I # ¥ HH-°T/H- FG G
/27
(a) Fae 1
(b) e 2
(c) 1323t
(d) TA 1,782

g 4, 9 3 T & qoEEE g
R IR B W uiad R @ e
C=A+B % URfie & w7 a1 § 7
(@ 1
() 2
() 4
d 8

SDFR-S-HTM - A

4

10. 71 T 4 3R B ¥9F &ife & QA

11

12.

AT AT 30 TR § 6 4B =4
IR BA=B R | Feafafes &
FH-/F-¥ T w8 2/F 2

1. A2=4

2. AB’=A4?B

¥ few T Fe w1 @R W wE IW
gf

(a) s

(b) Fae 2

() 13R 23t

(d T 1L,TE2

.(1+%)9(1—2)9%s R § R w

x
i
(@) 9

(b) 10
) 19

(d 20

(x+y)1°a5m%iﬁéﬂﬁﬁﬂﬁ'lﬁﬁﬁ

'ﬁ-‘lﬁﬁﬁ?ﬂﬁﬁﬁ:

1w & woft et % ¥ 67w F
TS T AF Afdad ©

2. dRR T T U, 9F g F v
¥ TR 8

IIGeH A | H-G1/FH-7 FIT G

/€7

(a) Fae 1

(b) & 2

() 13R23t

) =r€rr1,=r€r'2
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7. Let A be a non-singular matrix and
B=adjA. Which of the following
statements is/are correct ?

1. AB = BA
2. AB is a scalar matrix
3. AB can be a null matrix

Select the correct answer using the
code given below :

(a) 1 only

(b) 1 and 2 only

(©) 2 only

(d 1,2 and 3

. Consider the following statements in

respect of square matrices 4 and B of
same order :

1. If AB is a null matrix, then at least
one of A and B is a null matrix.

2. If AB is an identity matrix, then
BA = AB.

Which of thé above statements is/are
correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

. If 4 is the identity matrix of order 3
and B is its transpose, then what is the
value of the determinant of the matrix
C=A+B?

(@ 1
(b) 2
(© 4
@ 8

10.

11.

12.

Let A and B be non-singular matrices
of the same order such that AB = 4 and
BA=B. Which of the following
statements is/are correct ?

1. A%2=4
2. AB2=A’B

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

How many terms are there in the

9 9
expansion of (l+-§—] (1-—25) ?

(a) 9

(b) 10

(c) 19

(d) 20

Consider the following statements in
respect of the expansion of (x +y)!°:

1. Among all the coefficients of the
terms, the coefficient of the 6th
term has the highest value

. 2. The coefficient of the 3rd term is
equal to coefficient of the 9th term

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

A - SDFR-S-HTM
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13.

14.

15.

afe C(3n, 21)=CGn, 2n-7) &, @
C(n, n—5) AW F1 & ?

(a) 42
() 35
(c) 28

(d 21

C(51, 21) - C(51, 22) + C(51, 23) —
C(51, 24) + C(51, 25) - C(51, 26) +

C(51,27) - C(51,28) + C(51, 29) -

C(51,30) & W\ FT § ?

(@ C(51,25)

(S) C(51,27)

() C(51,51)-C(51,0)

) C(51,25)-C(51,27)

300 3R 400 ¥ <= &, Vet foraet farem

ga, § e @ @t s g
TRl BT o ?

(a) 32
(b) 36
(c) 40

(d) 45

16. 9% ‘TIGER’ & &R & W fram

g § O &k W = W) T I
B ?

SDFR-S-HTM - A

(a 72
(b) 36
(c) 18

@ 12

17.

18.

19

A g o R B, wliERw
x2+px+q=0ai b % | Elﬁ ald Ik
B3, THERT x2+mx+n=0 % 5 ¥,
DA m+nH W TR ?

(@ p*+q+pq

®) PP+¢*-pq

(© PP+4¢>+3pg

d P+¢>-3pg

M AT o 3k g, wfiemw
xz—ax—bx+ab—c=0%‘ﬁ§fﬁl

T F-a1 fiuma e € fomd a@
a IR bE ?

(a) xz—ax—ﬁ'x+aﬁ+c=0
b) 2-ax-Px+af-c=0
() P+ax+pPx+af+c=0

(d) x2+ax+ﬁx+aﬁ—c=0

. afe wefiaRor

x2—ax—bx—cx+bc+ca= 0% 7
weR €, d@t frafafea § & SF-w
R

@ atb+c=0
b) a-b+c=0
) atb-c=0
d —a+b+c=0
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13.

14.

18,

16.

If C(3n, 2n) = C(3n, 2n-7), then what
is the value of C(n, n-5) ?

(a) 42
(®) 35
(c) 28

@ 21

What is the value of
C(51,21)-C(51,22)+ C(51, 23) -
C(51,24)+ C(51,25)- C(51, 26) +
C(51,27)-C(51,28)+ C(51, 29) -
C(51,30) ?

(a) C(51,25)

(b) C(51,27)
© C(51,51)—C(51,0)

(d) C(51,25)-C(51,27)

How many odd numbers between 300
and 400 are there in which none of the
digits is repeated ?

(a) 32
(b) 36
(c) 40

(d) 45

How many permutations are there of
the letters of the word ‘TIGER’ in
which the vowels should not occupy
the even positions ?

17.

(a) 72
(b) 36
(c) 18
(d) 12

Let a and B be the roots of the

" equation x2+px+g=0. If a® and

18.

19.

B* are the roots of the equation
x2+ mx + n=0, then what is the value
of m+n?

@ P’+q’+pq
®) pP’+q’-pq
©) PP+4¢*+3pq
@ pPP+4’-3pq
Let o and B be the roots of the equa-
tion x2—ax—bx+ab—c=0. What is

the quadratic equation whose roots are
aand b?

@ X2-ax—-Px+af+c=0
b) P-ax-pPx+af-c=0
c) 2+ax+px+af+c=0
d PZ2+ax+px+af-c=0
If the roots of the equation

¥—ax—-bx—-cx+bc+ca=0

are equal, then which one of the
following is correct ?

@ a+tb+c=0
(b) a-b+c=0
(c) atb-c=0
d -a+b+c=0

A - SDFR-S-HTM
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20. 7 BT o IR B (a> B), G

21,

-8 +g=0F T € |
g a2- B2=16%, A g 1 AF T
?7

(a) -15
(b) -10
(¢) 10
d) 15
n & 8 Afwaw 7w w2, P

ferg (301 +351), 57 & fwrs R, el #
T G990 e § 7 :

(a) 4
() 6
© 7

d 8

22.

23.

2(2x1)+3(3%x2x1)+4(4x3x2x1)+
SCORAXINIRLY b oo T 4
9(9x8x7x6x5x4x3%x2x1)+2 H HA
;R ?

(@) 11!
(b) 10!

() 10+10!

(d) 11+10!

M 4=1, 2,3} 2, N 4 F W

T (TR ¥e) # fhad sme
Bt ?

SDFR-S-HTM - A

24,

(@) 1
() 2
() 4
(@) 8

afs a, b, c IR Aol (GP) & ¥, vt

a>0,b>0,¢>0%, a Ffeafafag &

25.

A - A & ?
1. a2, b2, c2 R Avft (GP) & &

2.4 L L i aoht (opy 3 #

3. JE,\/E,JEW ol (GP) # &
e T T g W o W @ I
EP""I= .
(@ Fad 132
(b) a2 3R 3
(c) ¥as 1 3R 3
(d) 1,2 3R 3
Hﬁ“;b, b, %WMGIP)

# g, @ feafofea # & a9-wr w@
g7

(@) a, b, c ETR AVt (AP) ¥ §
(b) a, b, c IR AVl (GP) # ¥

(c) a+b, b+c, c+a TUER It
(GP) % ¥

(d) a+b,b+c,c+aTATR A0 (AP)
# g
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20. Let a and B (a>p) be the roots (@ 1
of the equation x> — 8x + ¢ = 0. If

a? - B2 = 16, then what is the value (b) 2
of ¢?

(c) 4
(@ -15

(d) 8
(®) -10

24.If a, b, c are in GP wherea > 0, b > 0,

(c) 10

c¢>0, then which of the following

are correct ?
(d 15

21. What is the maximum value of n such
that 5” divides (30! + 35!), where n is a 2.
natural number ?

(a) 4 3. Ja, \b, Jc are in GP

(b) 6 Select the correct answer using the
code given below :

© 7 _
(a) 1 and 2 only

d) 8
(b) 2 and 3 only

22. What is the value of (¢) 1 and 3 only

2(2x1)+3(3x2x1)+4(4x3x2x1)+

SONERIRIR LY s oo coners Nivias * (d 1,2and 3

9(9Ix8xTx6x5x4x3x2x1)+2 ?

(@) 11! 25. If ﬂ;b, b, bzc are in HP,

(b) 10! then which one of the following is
correct ?

(c) 10+10! :
(a) a, b, c are in AP

+10!
o (b) a, b, c are in GP
23.If A={1, 2, 3}}, then how many (c) a+b, b+c, c+a are in GP
elements are there in the power set :
of 47 (d) a+b, b+c, c+a are in AP

9 A - SDFR-S-HTM
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26. cot?15° + tan?15° & W T § ?
(@ 12
(b) 14

(c) 83
d) 4

27. @& Pt 4BC ¥,
sind —cosB—cosC=0 % |
+iv B foras seR © ?

(@)

]

(b)

N

©

w|y

n
@ 7

2&ﬂﬁa+ﬁ=%— 3R 2tana =1 €,
@l tan2p ferash SRR € ?

@ 3
®) %

(c)

Blw

W

(d)

SDFR-S-HTM - A

29.

30.

31.

Ife tan(45°+0) = 1+5sin20 B, wEt
-%<9<% 2, A cos20 & HF HT

R?
@ 0

®) 3

() 1
d 2

WM T sin20 = cos36, el 6 TH
AR § | O 1 +4sinf F HE T
?

(7 R W%%sin18°=i4_l)

(@ 3
(b) 2

) 5
@ 3

qﬁ'tanﬂz—%%, Al sin® F 7 T
e HFA R ?

@ 73 B -3 7 & w

® -3, B 5 78 & ww

] B
() 73 9991 —33

(d) I9dE & q I T
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26. What is value of cot?15° + tan?15° ? 29, If tan(45°+6) = 1+sin20, where
_%< 0 <% , then what is the value of

(a) 12
cos20 ?
() 14
(@ 0
©) 83
) ¢
@ 4 ®) 3
() 1

27. In a triangle ABC,
sind —cosB —cosC=0. @ 2
What is angle B equal to ?

30. Let sin260=cos360, where @ is acute

@ % angle. What is the value of 1+ 4sin0?
i (given that sin18° = ‘54'1)
®) 7
(@ 3
r
(c) 3 ®) 2
@ 7 e
@ 3
28. 1fa+ﬁ=%and2tana=1,thenwhat ;
is tan2B 1t0? - 31, tan6=-—ﬁ, then what can be the
value of sin6?
@ 3 A :
(a) 13 but cannot be 13
2
® 3 5 5
(b) 13 but cannot be 13
3
© 7 i %
(c) 313
3
@ 3 (d) None of the above

11 A — SDFR-S-HTM
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33 ek BT Sn?ﬂmw%? 35. 59 G & I9g9 Hr 60° A qiRafda

¢ . BaK 0 W TEAT € A TF R
3 BT x HIR =l B S @ | A @R
@ 3 $t 3918 3x W 2, @ Frafrfea &
HF-97 9e © ?
®) 3
(@) 0<6<30°
(©) % (b) 30° < 6 < 45°
(c) 45° < 6< 60°
@ =
16 (d) 60° < 6 < 90°
33.sin'( §-+0) -sin(§-0) 6. (L) an(2) 2 ¢, et
o w7 0<x<6%, T‘ﬁxﬁ'ﬂaﬁm%? .
(a) sin260 @ 1
. (b) cos26 ) 2
(c) 2sin6 oy
C
(d) 2cos@
d 5

34.@3&&%@%%« :
QY ® AR WF IR h TEE T TE 37. afg 3sin'x + cos x =7 §, Eﬁx%&ﬁi
EAVGUE HEATHR @91 § | Hae & freht W%?
fag | oo ¥ qw Rk o &

IHA B0 HAW: 0.3HR 20 § | TR e
$r =T TR 2 i

®) 5
(@) hcos6 ‘
(b) hsind © %
(c) hcos26

1
(d) hsin26 @ 73
SDFR-S-HTM - A 12
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32. What is the value of

33.

34.

47 451
cos —+cos = ?
8 8

@ 3

Alw

(®)

colw

(©)

@ %
What is sinz(% +6') —sinz(% —6)
equal to ?
(a) sin26
(b) cos26
(c) 2sin@

(d) 2cos6

A vertical tower stands on a horizontal
plane and is surmounted by a vertical
flagstaff of height A. At a point on the
plane the angles of elevation of the
bottom and top of the flagstaff are 6
and 20 respectively. What is the height
of the tower ?

(a) hcos6
(b) hsin6
(c) hcos20

(d) hsin26

35. The shadow of a tower becomes x
metre longer, when the angle of
elevation of sun changes from 60° to 6.

If the height of the tower is \3x metre,

then which one of the following is
correct ?

(@) 0<0<30°
(b) 30° < 6 < 45°
(c) 45° < 0 < 60°

(d) 60° < 6 < 90°

2 3
0 < x < 6, then what is x equal to ?

36. If tan'l(-l—) + ta.n“(i) =7 Where

(@ 1
(b) 2
(© 3

@ 5

37. If 3sin~'x + cos 'x = &, then what is x
equal to ?

(@ 0

(b)

B —

©F

&=

d

A — SDFR-S-HTM
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38. 4 tana + tanf=1 — tana.tanB ®, &t

tanctanfx1 &, T Frefefe #

FNA-AT (¢+f) & #Fl & § TH A

22

(a)

S E

(b)

ENE

©

w|y

/4
@ 7

39.3f% (1+tanf)(1 +tan90)=2 ®, @
tan(100) & | FT § ?

@@ 0
(®) 1
©) 2
(d) =a
40. sin0° + sin10° + sin20° + sin30° + ... +
sin360° F WA FT1 R 7
(@) -1
® 0
© 1
@ 2

SDFR-S-HTM - A

4. 99593 A={1, 2, 3, 4} & wh
Jrageaal | fEr A | o J

o w==a (4) & sftegeaa € 7
(a) 6
®) 7
() 8
@ 9

42. 3 sfch a=aal 4 3R B & daw ¥
frrafafea s34t w fmr $ifte .
1. x¢(AUB) = x¢A A94T x¢B
2. x¢(ANB) = x¢A 3R x¢B

I § A DA /A-Y T qE
/%7

(a) Fae 1
(b)) Fa@2
() 13R23H
(d AA 1,782
43. Q) s wH==al 4 3R B & way #
freafafaa Fomt w fmr i

1. AUB=4ANB afe IR Fa« afe
A=B

2. AAB= ¢ afe 3R Fa= afz 4=B

S # ¥ FA-A1/F-7 T 6@
R/R?

(a) Fae 1
(b) Faw 2
(c) 1323t
(d FAL,TE2
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38. If tana +tanf=1-tana.tanf, where 41. Consider all the subsets of the set

tana.tanf#1, then which of the A={1,2,3,4}. How many of them are
following is one of the values of supersets of the set {4} ?
(at+p)?
(@) 6
(a) %‘. (®) 7
(c) 8
® 7 @ 9

42. Consider the following statements in

(c) % respect of two non-empty sets 4 and B :
1. x¢(AUB) = x¢A4 or x¢B
n
@ 3 2. x¢(ANB) = x¢ A and x¢B

Which of the above statements is/are

39. If (1 + tan@)(1 + tan96) = 2, then what correct ?
is the value of tan(108) ?

(a) 1 only
(@ 0 (b) 2 only
®) 1 (c) Both 1 and 2
© 2 (d) Neither 1 nor 2
c
(@ TInfinite 43. Consider the following statements in

respect of two non-empty sets 4 and B :

1. AUB=ANB iff A=B
40. What is the value of

sin0° + sin10° + sin20° + sin30° + ... + 2. AAB= ¢@iff A=B
sin360° ?
Which of the above statements is/are
@ -1 correct ?
(a) 1 only
(®) 0
i (b) 2 only
bey: 4 (c) Both 1 and 2
@ 2 (d) Neither 1 nor 2

15 A — SDFR-S-HTM
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44.3f 2-5xy+42=0 ® @ xRy TR 46. - = . Hﬁ"nﬂ?
sfenfia eagl wen % wewm N by o

g R ¥ AR ¥ Pt s w te/-b 1
ﬁi’l’(ﬁﬁt{: (a) _3_”
4
1. R &g §
oy e
2. R gafiE 2
3. R G 2 - ' © %
I # ¥ F-a/A-A T P |
2/E 2 $
(@) ¥ 1 | &
| 47. _:_3_1J H A (Aigged)
b) Fa 2 ( 2 2
(c) &as 132 i
/ 1
@ 1,2 3K 3 @ 3
45. freft wem 4 w el off G R & ® 5
forg frfofaa st w fmm $ifv © 1
1. af &g ?, d R ot g @ d 22%
2. 7R RTAR R, AR WO g frafifen ot w R D
3 :
R 1. 25, 6% fwrsa @, wein>38
2 digp 2. 31 +3,7% forsa 8, st > 38
I # A FH-A1/A-Y F99 9 ;
/% S # ¥ FH-G1/H-¥ FAT /G
Fae | 3R vy
@) l. 2 : (a) Fad |
(b) Fa« 2 IR 3 (b) ¥ 2
© Fo1R3 © 1323t
@ 1,23R3 (d A 1,782
SDFR-S-HTM - A 16
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44, Consider the following statements in

respect of the relation R in the set IN
of natural numbers defined by xRy if
x2- S5xy + 42=0:

1. R is reflexive

2. R is symmetric

3. R is transitive

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) 1and?2 onlf

(d 1,2and3

45. Consider the following statements in

respect of any relation R on a set 4 :

1. If R is reflexive, then R™! is also
reflexive

2. If R is symmetric, then R is also
symmetric i

3. If R is transitive, then R™! is also
transitive

Which of the above statements are
correct ?

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only

(d 1,2and 3

17

46.

47.

What is the principal argument of -l—i;

where i =+/-17?

Ny

(a)

(®)

|
EN ]

(©)

N

W

T

@ ¥

What is the modulus of

(Fy

I

(@)

(b)
©
d

—_— ”t._.

2200

. Consider the following statements :

oo

- 3 is divisible by 6, where n> 3

2. g;!+3 is divisible by 7, where
n>3

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — SDFR-S-HTM
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49, 9 faenfegt # ¥ 5 faefat A & dw

S1.

T o=t & T o vt @ arfE S
fodw feenfeat @ dm & smex <@ s
qS ?

(a) 14
(b) 21
(c) 35

d) 42

.(x+1)2” ¥ WR H, 39 W A

-
@+ )T W F W (T x F
FRG wat § waf@E ) ?

@ CCn, ny
) C2n, n— 1)
(© C(2n, n)

@d C@n,n-1)

gfe foedt aniax Aot (AP) & waw 9

UGl & ARTHA, TWh U9 11 &I &

TRTHA & SKEK B, o 36F WIAH 20

52.

53.

afy Rt awieR Aoh (AP) #1 57 w2
%t.akmlo‘“qa%t,a’rm
50 Y9Gt T INTHA FT BT ?

(@) 25

(b) 255

() 26

(d) 265

(1110011), + (10111), forad aweR
g7

(@) (101),

() (1001),

(© (111),

d (@011),

. afG x3+y3 = (100010111), 3R x+y =

(11111), & @ @-yP+x s
/R ? ? oo

TG H ARTES T g ?
(@) (1101),
(@) 20 ;
®) 10 (b) (1001),
(© 2 (© (1011),
@ o | d) (1111),
SDFR-S-HTM - A 18
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49. In how many ways can a team of 5

players be selected out of 9 players so
as to exclude two particular players ?

(a) 14
() 21
(c) 35

d) 42

2n

50. In the expansion of (x+31r-) , what is

the (7 + 1)th term from the end (when
arranged in descending powers of x) ?

(@ C@2n, n)x
() C@2n,n-1)x
(c) C@2n,n)

d c@n, n-1)

51. If the sum of the first 9 terms of an AP

is equal to sum of the first 11 terms,
then what is the sum of the first 20
terms ?

(a 20
(b) 10
(c) 2

@ o

19

52.

53.

Ifthe~5“‘termofanAPisl—ld

10% term is é, then what is the sum of
first 50 terms ?

and its

(a) 25

(b) 255

(c) 26

) 265

What is (1110011), + (10111), equal
to ?

(@ (101),

(b) (1001),

() (111)

@ (1011),

. If x3+y3=(100010111), and x+y =

(11111),, then what is (x—y)*+xy
equal to ?

(@) (1101),
(b) (1001),
(c) (1011),

(d) (1111),

A — SDFR-S-HTM

Downloaded from www.cclchapter.com



55. srafiaTait
Sx-4y+12< 0, x+y<2,x<0 3R
y>0R four $iftg | frefafea ¥ A
FH-u1 fag wdfs S A @ 2

@ (0,0)

®) 2,4

© 1,4

@ 1,2

56. e y=[x], xe(-1,1) & GEy H

Frafafaa st w fer Ao, et
[] 7ETw QUiis 6o -

1. x=0-5 R qH adest 0 &
2.9 x=0-5 R §ad &

I H A H-91 /3-8 F99 981
/€

(a) e 1
(b) e 2
(©) 13R 23
(d JT@1L,782

_ 4

57. AqHA  GHIEHOT 1+(ﬁ]2=(“’—25’J3
dx dx?

'q?_rmafﬂr%?

@ 5

(b) 2
(c) 3
(d) 4

SDFR-S-HTM - A

20

58. T Wi word & e B A

59.

S8 wed i formm W F wwEa
?1 AR s w100 awt F em
B R, @ ew fRRiE (s
foriw) w1 R 2

(@)
(b) 2

© o0

(d)

BT f(x) = 1—(.:-'1)2 I ol
27

(@ (0, 1)

®) [-1, 1]

(© (0,2

d [0, 2]

. WA P =4kx AR T AT

(dte| Wew) TR Rag &8F &1 S
24 T R, TRl k>0 | kF A
e ?

@ 1
(b) 2

R | N

(d) 4
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58,

57.

Consider the inequations
5x-4y+12< 0, x+y<2,x<0 and
y>0. Which one of the following
points lies in the common region ?

@@ (0,0
®) 2,4
© 1,4
d 1,2

. Consider the following statements

in respect of the function y=[x],
xe(=1,1) where [.] is the greatest
integer function :

1. Its derivative is 0 at x=0-5

2. It is continuous at x =0

Which of the above statements is/are
correct ?

(2) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

What is the degree of the differential

4
2 3y 3

: )" _(dy]|,
cquatlonl+([] —-[ 2] ?

(a)

N Wl

(b)
)y 3
(d) 4

21

58.

59,

60.

A radioactive substance decays at a
rate proportional to the amount of
substance present. If half of the
substance decays in 100 years, then
what is the decay constant (propor-
tionality constant) ?

@ 15
&
e

What is the domain of the function
F@)=A1-G-1? ?

@ © 1)

®) 1, 1]

© ©2)

@ [0, 2]

The area of the region bounded by
the parabola y? = 4kx, where k > 0 and
its latus rectum is 24 square units.
What is the value of k£ ?

(@ 1
(b) 2
(c) 3
@ 4

A — SDFR-S-HTM
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61. %. .3
0 (sinx+cosx)2

@ -3

()

B | s

© 1

MW

@

62. j'(sinx)_m(cosx)"mdx frad R

g7

(@) +tanx+c
(b) 2+tanx+c
(¢) eotx+c
(d) V2tanx+c

e*dx

X g }

63.af 11=Ie - R 1-2=I
T @I+ L e swer R 2

(a) §+c

(b) x+c
() In(e*+e™+c
(d) In(e*-e*+c

SDFR-S-HTM - A

formes aaR ® 2

dx
er +1

22

64. J‘"' X gy T weR & 7
-2 |x|

65.

66.

67.

(a) -2
®) -1
() 1

@ 2

sindx + 2x & forem s R /%, el
0<x<Z g7
2

(@ 1

(b) 2

© 4

(d 8

1 w1 fean

tanx +cotx
A TR, Sl 0<x<%%?

B f(x)=

@

FN-

(b)

(©)
d 2

o

4f(x)- f(-}) =(2x+-1§) (Zx—}l-J 2,
A £(2) frad sax @ 7

(@ 0

®) 1

(© 2

_ N

(d 4
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61.

62.

Io (Eil r : L‘)

Pk

(a)

(®)

B —

©© 1

(S 11%)

@

What is [ (sin ;)‘”’ (cosx)™? dx equal

to ?

(a) +tanx+c
(b) 2+tanx+c
(c) “cotx+c
(d) 2tanx+c
e*dx dx
? = d Ii=F—=
e ef+e* s &* &1

then what is 7; + I, equal to ?

@ T+

(b) x+c
() In (e‘+e‘1_‘)+c

(d) In(e*—e™*)+c

23

64.

65.

- 67.

What is I’

_llx?idx equal to ?
(@ -2
(b) -1
© 1
d 2

How many extreme values does
sindx + 2x, where 0 <x < % have ?

(@ 1
(b) 2
() 4
(d) 8

. What is the maximum value of the

function £ (x) = ——1

——————  where
tanx +cotx

0<x<Z9

2

(@)

N

®) 3

(€)1
d 2

If

4f(x)—f(%) =(2x+%) (2;:-%),
then what is f(2) equal to ?

@ 0

() 1

© 2

d 4

- A — SDFR-S-HTM
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68. afg f(x) =4x + 38, A fofof (1) Frer

69.

70.

71.

TR § 7
(a -1
®) 0
) 1
d 2

MY =181 1)® %%ﬂ%
TR ?

(@ -1

() 0

© 1

@ 4

R y=(E M x=1® %Tﬂ'ﬂ'ﬁ'
FR?

@ 7
() 1

© 2
@ 4

HH | y =[x + 1], -4 <x < -3, &l
[.] e Quifsh %o ® | x=-3-5 R x
& AT H y T e T 7

@ —4
®) 35
© -3
d 0

SDFR-S-HTM - A

72.

73.

74.

78.

afe %=(In5)y, &l y(0) = In5 ®, @
y(1) fereres s ® 7
(@a 0

(®) 5
(c) 2in5

(d) 5In5
W f(x)= 10 % waw # frafafea
R R $ifsa .

1. SHEH Wi (o0, 0) &

2. 98 TS dad e ©

3. W@ x=0 R FaHe1d &
I § A HIA-Y T TG € 7
(a) Fa« 13K 2

(b) aw 233

(c) %aad 133

d 1,23R3

lim ;3 (cosec x)? T arer & 2

x—0

(@ 0
1
® 1

() 1
(d) ¥ = AfeE wd 2

fim X2=1 e ?
b e W ® T
@@ o0

(b) 3

(c) 6

(d) € & sferea T8 ©

Downloaded from www.cclchapter.com



68. If f(x) = 4x + 3, then what is fof°f (1)

equal to ?
(@ -1
(b) 0
@1
d) 2

If x”y* =1, then what is % at (1, 1)
equal to ?

(@ -1

() 0

(© 1

(d) 4

. If y = (x*)", then what is the value of

%atx=l?

(a)

B |

(®) 1
(c) 2
@ 4
.Let y=[x+1], -4 <x<-3 where [.]
is the greatest integer function. What

is the derivative of y with respect to x
at x=-3-5?

(a) -4
(b) -3-5
(c) -3
(d 0

72, 1f % =(InS)y with y(0)=1In5, then

what is y(1) equal to ?
(@ 0

() 5

(c) 2In5

(d) 5inS

73. Consider the following in respect of

the function f(x) = 10*:
1. Its domain is (—o0, )
2. It is a continuous function
3. It is differentiable at x=0

Which of the above statements are
correct ?

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2and 3

74. What is li_m)0 x> (cosec x)? equal to ?

@ 0

1
(b) 7
) 1

(d) Limit does not exist

75. What is lim

£ -1 equal to ?
x—-ﬂj;T]
(@ 0
(®) 3
) 6

(d) Limit does not exist

A - SDFR-S-HTM
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v76ﬁ=r&-rftqaﬁ%ﬁmaimﬁm 79.3fc xy=4225 &, W&l x IR y "AYf

- T %3 2 +6x+53m=r|=rg? ‘ ‘g@:ﬁi,ﬁrﬁy F A A

() ¥ (-oo, 1) @ 130

() (1,6) (b) 260

() 2113

O d) 4226

d) (=, 1)U (6,x)

| ' 80.H‘ﬁﬂﬂﬂx%—2y=0ﬂﬁlﬁﬁﬁm
77.3f x=2 W_Wf(x):%nnxﬂ B

F Fawest YA R, DA m+8n F AW (a) TH & @1-F

i (b) TF FA-F

W (©) TH RATE-F
C® 0 (d) T S -ger

“© 2 S 81. afc fdw= (-5, 0), (5p2, 10p) 3K

(5¢%, 10q) T fog W@ &, A pg &1

() maa(%a)%mﬁufﬁa q R, T prg B2

&1 R s "
(a) -2
78.9% y=x IR y=xF &9 #, v (b) -1
%@ﬂa’rﬁmﬁﬁméﬁmmw © 1
¢ LAY
@) 1'3“?%'5 82. I8 WA @1 F a1 € W fag
(1, -2) & oA ® IR & | R
® 4 it ok FA: @S 1t § ?
(@ x+y-1=0
© 5w AR i
) x+y+1=0
(d) 1 = s d x-y-2=0
SDFR-S-HTM - A 26
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76. In which one of the following intervals 79. If xy=4225 where x, y are natural

: ; 2 752 numbers, then what is the minimum
1stheﬁmct10nf(x)=T-—2—+ﬁx+5 value of x+ ?
S (@) 130

(@) (-, 1) only (b) 260

® (1, 6) (. 288
(d) 4226

(c) (6, =) only

(d) (~o,1) U (6, ®) 80. What does the equation x% -2y=0
represent ?

77.If the derivative of the function (a) A family of straight lines
f(x)="+2nx+1 vanishes at x=2, (b) A family of circles

: ?
then what is the value of m + 8n ? (c) A family of parabolas

(@) -2 (d) A family of ellipses
(®) 0 81. If the points with coordinates (-5, 0),
(5p%, 10p) and (5¢2, 10q) are collinear,
(© 2 ' : then what is the value of pg where
p#q?
(d) Cannot be determined due to 5
insufficient data ()&
() -1
78. What is the area included in the first () 1
quadrant between the curves y =x and
y=27 @ 2
1 > 82. What is the equation of the straight line
@ e - which passes through the point (1, -2)
; and cuts off equal intercepts from the
1 axes ?
— square unit
s (@ x+y-1=0
1 (b) X=y= 1=0
(c) 5 square unit
() x+y+1=0
(d) 1 square unit d x-y-2=0
27 A - SDFR-S-HTM
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83.96 Iu H wHieRw T § S wuw 86. #I wif fomeft Brst 4BC &t syt

QUi # qFl @ AR W@y -2 =01 BC, CA 3R AB it w=gal #9W: aq, b
afwag? IR c® | 3R p o Bt afema sk
q%’ﬂ"’lﬁ%,?‘h
@ P+y -2-2-1=0 p(p_za)m[g]ﬁmasma?
) 2+y2+2x+2p+1=0 @@ ¢q
(©) x2+y2—2x—2y+1=0 4
(©) 3¢
(d) X2+)y?—4x-4y+4=0 @ 4
84. 7Y (=3, 0) 3R faT x-3=0 a@ 87.0F W W@ x+2y+2=0 3R
RAaAd T G0 71 § 7 2x -3y -3 =0% wft=g fag & Torah
? | 78 1Y wgaly § R siaEe
(@) y*=3x A § | sa@vet & fFuw Aml @
ANTHS T 8 ? :
(b) x2=12y s
© Y =12 () 3
@ y*=-12x s
d 6
85. qrEgT x2+2)2=1 H WA F = _ ;
AQwd? 88. for wicraiett & arefimr @
ax+by+c=03R bx+ay+c=0
(@ 1 TR (a#0,b#0) T 7
(a) ¥ a-b=0
® 2
(b) ¥ a+b=0
() 2
(c) @2-b2=0
@ 242 (d) ab+1=0
SDFR-S-HTM - A ‘ 28
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83.

85.

What is the equation of the circle
which touches both the axes in the first
quadrant and the line y—-2=07

@) 2+y2-2x-2y-1=0
(b) 2+y2+2x+2y+1=0
(© X2+y?-2x-2y+1=0

(d x*+)y*—4x-4y+4=0

. What is the equation of the para-

bola with focus (-3, 0) and directrix
x-3=0?

@ »*=3x
() x*=12
(€ ¥ =12

@ »*=-12x

What is the distance between the foci
of the ellipse x2 +2y2=17?

(@ 1
®) V2
(c) 2

d 242

29

86. Let a, b, c be the lengths of sides BC,

CA, AB respectively of a triangle ABC.
If p is the perimeter and g is the area
of the triangle, then what is

2(p - 20) tan(g) equal t0 ?
(@ ¢
() 2q
() 3¢

(d) 44

87. A straight line passes through the
- point of intersection of x+2y+2=0

and 2x — 3y — 3 = 0. It cuts equal inter-
cepts in the fourth quadrant. What is
the sum of the absolute values of the
intercepts ?

(a) 2

® 3

() 4

d 6

88. Under which one of the following

conditions are the lines ax + by +c=0
and bx + ay + ¢ = 0 parallel (a # 0,
b#0)?

(@ a-b=0 only

(b) a+b=0only

() @-p=0

(d) ab+1=0

4

A — SDFR-S-HTM
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89. @1 x+y=p H s et ¥ Fen
W YW @rEs & weafag F fagua @
e §) ?

‘(a) x-y=0
(®) x+y=0
(© x-y=p

(d x+y=p

90. 3¢ 745 (x, y) 755 (24, 0) 3K (0, 3q)
AR QYRR T/ a>08, @
et A d dR-mradr & 2

(@ 2x-3y=0

(b) 3x-2y=0

(c) 4x-6y+5a=0

(d) 4x-6y—-5a=0
I dw (03) vE F oo frafafea w
ﬁ?l’(?ﬁﬁl"l:
A 6x+ky+3z—12=0, Sl k#0 B,
fdwis stgt & W 4, B 3R CWR @rear

? | @G R 4, B, C A oA A N
THIERUT X2+ )2 +22 - 2x—3y—4z=02 |

91. kS AF TR ?
(@ 3
(b) 4
(c) 6
d 12

SDFR-S-HTM - A

30

92. I p 7 & I A WA R wwaaa gl
&, ot frafofea # d - adi & 2

(@ 0<p<0s5

(b) 0:5<p<1

() 1<p<1s5

@d p>15

93, 7Efig AR M F ¥y ¥ A AR

@1 1 R | g ?

(a)

x=y=z

(b) 2x=3y=4z

(©) 6x=3y=4z

d) 6x=4y=3z

e 2 (02) 9 & fog frafofes w fer

Hiftre :

am fifsg
(2,3,-6) @ ToRaT ® |

k

<+

2x 2y

3

+%=2, fag

94, o R et e & Rg-araa
e ?

(a)
(b)
©

e

. 21>
<2, 3, 6>
<6, 3, 2>

<k 2.5
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89. What is the equation of the locus of the
mid-point of the line segment obtained
by cutting the line x +y = p, (where p
is a real number) by the coordinate
axes ?

(@ x-y=0
(b) x+ty=0
© x-y=p

(d x+y=p

90. If the point (x, y) is equidistant from
the points (2a, 0) and (0, 3a) where
a > 0, then which one of the following
is correct ?

(@ 2x-3y=0

(b) 3x-2y=0

() 4x-6y+5a=0

(d) 4x-6y—5a=0
Consider the following for the next three
(03) items that follow :

The plane 6x + ky + 3z— 12 =0 where k# 0
meets the coordinate axes at 4, B and C
respectively. The equation of the sphere
passing through the origin and 4, B, C is
x2+y*+22-2x-3y—4z=0.

91. What is the value of k ?
(@ 3
(®) 4
() 6
@ 12

92. If p is the perpendicular distance from
the centre of the sphere to the plane,
then which one of the following is
correct ?

(@ 0<p<05
(b) 05<p<1
() 1<p<15

d p>15

93. What is the equation of the line
through the origin and the centre of the
sphere ?

@ x=y=z

(b) 2x=3y=4z
(c) 6x=3y=4z
d) 6x=4y=3z

Consider the following for the next rwo (02)
items that follow :

2x,2y .z
Let the plane w t 3 +3
the point (2, 3, —6).

=2 pass through

94. What are the direction ratios of a
normal to the plane ?

n) '<3;2,1>
(b) <2, 3, 6>
(c) <, 3, 2>
@ <1,2,3>

A — SDFR-S-HTM
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95. 3k 3@ wHaw W FewE FE W

96.

97.

1Y Y @GV FHAW: p, g AR r §,
H}T(p+q+r)‘fal?ﬂﬁ3m% ?

(a) 10
() 11
(c) 12
(d) 13

afe 4i + j -3k 3R pi +¢j -2k a@m
ey €, @ p 3R ¢ F ww=E "W
Y FATE ?

(@ 4,1
(®) 1,4

© 3.

W

@ 2,

w|oo

afe feredt Pt 4BC S it 4, B3tk C
¥ fafy afew waw: @, b 3k C §
R G P & w2, @ 4G
forad R 2 2

(3) 3+§+?

ol

27—Db=
(b) 3

-2 o —»
b+c-2a

© 25

-
C

- -)
a=-2b-2
@ £-28-2¢

SDFR-S-HTM - A

32

ST # ¥ FA-°1/FN- FGT qE@
R/%?

(a) &aa 1

(b) Fae 2

(c) Fad 132
@d 1,23R3

99. WM WY 2, b 3R ¢ oW RAR

v @ VR & 5 axb=Cc ® | 3@
e Faat w fer Hif

Lak b Ik 2R mE Q7
Ffgdia 2 '

29 2 R B Ry m E A 2
aifecha 3

Sdh | @ aﬁﬂ—m/ﬂﬂ-ﬂ.m e
R/E?

(a) Fae 1

(b) ¥« 2

() 13R23mt
(d) aﬁn,-r'é’rz
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95. If p, ¢ and r are the intercepts made

by the plane on the coordinate axes

respectively, then what is (p+g¢g+7r)
equal to ?

(@ 10
(b) 11
) 12
(d) 13

96.If 4i+j—3k and pi+qj—2k are

collinear vectors, then what are the
possible values of p and ¢ respec-
tively ?

(@ 4,1
(b) 1,4

(©

W

»

d

]

Wi wlco

w|oo

97. If @, E’, € are the position vectors of

the vertices 4, B, C respectively of a
triangle ABC and G is the centroid of
the triangle, then what is 4G equal
to ?

o B

(b) 2a-b-c

98. Consider the following statements :

99.

1. Dot product over vector addition
is distributive

2. Cross product over vector addition
is distributive

3. Cross product of vectors is asso-
ciative '

Which of the above statements is/are
correct ? :

(a) 1 only
(b) 2 only
(c) 1 and 2 only

(d) 1,2 and 3

- 7 =2
Let a, b, c bgthree non-zero vectors
such that @x b = ¢. Consider the fol-
lowing statements :
_’
1. @ is unique if 5 and C are given

-, < op =2 = ¢
2. ¢ isunique if @ and b are given

Which of the above statements is/are
correct ?

(a) .1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — SDFR-S-HTM
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100. W hfe 7 3K b, o 3¢ Wity =
a 3K

101.

102.

R & 5 [2-Bl<2 2 1aR Tk B
F < o Hr 20 B, N Freafofaa 7 @
FAT-|7 TR R ?

(a) ¥ 0<sinf<1
(b) aﬁlﬂ——;—<sin9<-é—
(c) ¥ -1<5sin6<0

@ -1<sinf<1

1,2,3,4,5% @ Q 3% agfous &9 &
91 94§ 3R 3% TH-g | o fon
STaT ® | 39 o A wifdeear @ fR
T VA 6 A 3R 0 ATY ?

@ 15

(b)

wiN W=

©

(d)

W

@m%m.aﬂ(%a)%agm

agf s (Thegeeh WA gU) W
IR faum 2 | o ¥ T Fred famen
T AT § ? :

(a) ma:_>mﬁi|a;r > qEAd
(b) WTEA > TEAEH > HIEAHT
(c) wifera > wen > sges
(d) sges > Aifera > wrew

SDFR-S-HTM - A

103, 9= HATE WEIT T WER0T 368 | AR

104.

105.

3 W@ F ¥ 9K W0 2,2, 4,5 €, @
A YEor TR ?

(@) 4

®) 5

(¢ 7

@ 9

T GHIR A (AP) & 50 9T &1 FHiaR
wer w4 B e waw ug 4 3R ad
IR 4R ?

(a) 50

() 51

(c¢) 100

(d) 102

21, 34, 23, 39, 26, 37, 40, 20, 33,27 &
wer forem onis (wrem @ foran )
FME?

(a) 011

(b) 022

) 033

(d) 044
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100. Let 7 ahd 3 be two unit vectors such

that |[d-b|<2. If 20 is the angle
-

between @ and b, then which one of

the following is correct ?

(a) 0 <sinf <1 only
ke 1

(b) 2<s;119'<20nly

(¢) -1 <sinf <0 only

(d -1<sinf<1

101. Two digits out of 1, 2, 3, 4, 5 are

~ chosen at random and multiplied

together. What is the probability that
the last digit in the product appears
as 07

1

@ 1o

(®)

L=

(©)

(TS

)

|

102. The frequency curve (assuming uni-

modal) corresponding to the data
obtained in an experiment is skewed to
the left. What conclusion can be drawn
from the curve ?

(a) Mean > Median > Mode
(b) Mean > Mode > Median
(c) Median > Mean > Mode
(d) Mode > Median > Mean

35

103.

104.

105.

The variance of five positive observa-
tions is 3-6. If four of the observations
are 2, 2, 4, 5 then what is the remaining
observation ?

(a) 4
®) 5
© 7

d 9

What is the arithmetic mean of 50
terms of an AP with first term 4 and
common difference 4 ?

(a) 50
(b) 51
(c) 100

(d) 102

What is the coefficient of mean devia-
tion of 21, 34, 23, 39, 26, 37, 40, 20,
33, 27 (taken from mean) ?

() 011
(b) 0-22
() 033

(d) 044

A - SDFR-S-HTM
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T W (03) v & fou fafafes «w
R g .

lWﬁ%HﬁWﬁ%@ﬁﬁﬂq X1 Xp,
. x, & Tt o sfstig 9w —20 € 3k
92*&%31%%3#@%@%
feraemt =1 <fisia 3wt 1402 |
106. HTFT FT AT FT§ ?
(@) 91
(b) %6
(c) 98
@ 99 -
107. 99 # & 3k T T A & T &
ferarerat = fichig AT @ 7
@@ 0
(b) 10
() 20
(d) 40
108. afe y F ¥ 1% T T wH F =

% fomeat @ <isfig 9/ 180 8, @ y
AW TR ?

(a) 80
(®) 85
(©) 90
@ 95

SDFR-S-HTM - A

I d (03) v & fou feafafea =

TH HT A 51 BT G WTHIS GHIGL A0
(AP) # €, fora waw 9g 4 ® 3R ¥ iR
3R
109. WTHTEHT T AT T & ?

(a) 67

®) 71

() 75

@ 79

110. SR <Y ATfera w1 § ?
@) 795
(b) 79
(c) 785

d 77

. 111. #ifedent @ 3 0 f=gaml & awa

R ?
(@ -1
(® 0
(© 1

@ 2
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Consider the following for the next three
(03) items that follow :

The algebraic sum of the deviations of a
set of values x;, x,, x3, ... x, measured
from 100 is —20 and the algebraic sum of
the deviations of the same set of values
measured from 92 is 140.

106. What is the mean of the values ?
(a) 91
(b) 96
(c) 98

d 99

107. What is the algebraic sum of the
deviations of the same set of values
measured from 99 ?

(a) 0
(b) 10
(c) 20

| (d) 40

108. If the algebraic sum of the deviations
of the same set of values measured
from y is 180, then what is the value
of y?

(a) 80
(b) 85
() 90

(d) 95

Consider the following data for the next
three (03) items that follow :

The marks obtained by 51 students in a class
are in AP with its first term 4 and common
difference 3.

109. What is the mean of the marks ?
(a) 67
(b) 71
(c) 75

(d 79

110. What is the median of thé marks ?
(@ 795
®) 79
(c) 785

@a 77

111. What is the sum of the deviations
measured from the median ? :

(@ -1
(®) 0
(c) 1

@ 2

A - SDFR-S-HTM
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Fe dm 03) 9t F fog Feafefes o=
(321) | fer 6 :

T A () ¥ forg 90 s # | IR
WEms I THIPR T A I
w I R

- wrawt | R-wrawt
* we = T
AT
3a¥ & 18 9
I
e ¥
= F 36 27
ERAE] |
7= e G a8 e & % S vea smes
HAER P e was ¢ 3R T
g wor & 5 R ved Imdes &1 arEmTeR

Prnmn R A 398 & I
112. P(G N T) forad s & 72
(@)
(b)
(©)
(@

WL v wnin wv—

113. P(G1T7) freds s ?
(@)
(b)
©
(d)

Qe QA Nl 9

SDFR-S-HTM - A

38

114. P(TIE) e s 2
(a)

1
4

(®)

W | =

(©)

Lh|w

@

Blw

I dw (03) vE & fog Feafafes ==
(321) ) =R $ifsg

fft o &, soemt # Rl ded @
difq B it s it wwE 331% R

115. 39 a1 H F1 Wik € & 6 FrEmt
F A 99 ®9 A 3 FEEIR 3 SR A
difeq & ?

80

@ 29

®) 2
© A2

(d)



Consider the following data for the next

- three (03) items that follow :

There are 90 applicants for a job. Some of
them are graduates. Some of them have less
than three years experience.

Number of | Number of
graduates |non-graduates
At least
3 years 18 9
experience
Less than
3 years 36 27
experience

Let G be the event that the first applicant
interviewed is a graduate and T be the
event that first applicant interviewed has
at least 3 years experience. :

112. What is P(G n T) equal to ?

(a)

(®)

()

wmid Wnw LN -

@

113. What is P(G | T) equal to ?

(@)
)
(©)

@

[DQ e Q. QN

39

114. What is P(T|G) equal to?
(@)

7 !
4

(b)

W

wnw

(©

(d

Hlw

Consider the following data for the next
three (03) items that follow :

The incidence of suffering from a disease
among workers in an industry has a chance

of 331%.

115. What is the probability that exactly
3 out of 6 workers suffer from a
disease ?

80
(a) 729

10
®) 37

10
© 25

y 160
@ =9

A — SDFR-S-HTM
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116. 3@ 1@ 71 Wil & fF 6FmRI @ W (03) e ¥ fu feafRe
FAaE M A diRa i & 7 SRearar-se7 | fER fiftg

L1 0-20 | 20-40 | 40-60 | 60-80 |80-100
665 : -
@ =5 areawar | 17 | p+q | 32 |p-3¢] 19
i F IRERAT 1202 | WA 50 € |
O =
118. p T AR FT & ?
@) 25
© 35
(b) 26
1 ) 27
Fo )
@ 729 @ 28

17, 90 9 & w7 o @ 5 gwwny M- F AR ENR ?

¥ YA TS SR 39S (@ 1
R ® 2
o 78 (© 3
729 d 4
®) 86 120. 7 yAF Fem i TRARAT FHT K @
729 ST, A HEF T BN ?
(@) 25
653
© 55 ®) 50
{c) 715
596
@ 729 (d) 100
SDFR-S-HTM - A 40
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116. What is the probability that no one
out of 6 workers suffers from a

117.

Consider the following frequency distri-
bution for the next three (03) items that

disease ? follow :
Class 0-20 | 20-40 | 40-60 | 60-80 |80-100
- 665 F 17 [p+q| 32 [p-3¢| 19
(a) 79 requency ptq P—3q
The total frequency is 120. The mean is 50.
b S :
729 118. What is the value of p ?
(a) 25
© 32 ®) 26
243
() 27
¥ d) 28
(d) 729 (d)
119. What is the value of ¢ ?
What is the probability that at least @ 1 ;
one out of 6 workers suffer from a
disease ? b) 2
(© 3
728
@ 222 @ 4
120. If the frequency of each class is
®) 96 doubled, then what would be the
729 ki 7
25
© 23 o
729 (b) 50
(c) 75
596 :
@ 729 (@ 100

41
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SPACE FOR ROUGH WORK
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T.B.C. : SDFR-S-HTM Test Booklet Series

TEST BOOKLET
MATHEMATICS

Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300
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2.

5.
60
7.

10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU.SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the
Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test
Booklet. in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to
mark on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which
a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.
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